o(d dxy) (cm)

o(d o) (rad)

[
oI
w

=
LUULILI S DL

N d
LRSI I LI I

10_2 E-..

.- -

..

......................

...............

............................................

I E—

0 1 2 3

1

g(dd) (cm)

072

—=— DQM_mKFii_TTbase
—e— DQM_mkFit_TT_retrainOldFiles125
—— DQM_mKkFit_TT_retrainNewFiles125
—— DQM_mkFit_TT_retrainNewFiles125AndSQCD

.......................

......................

......................

.........................................

...........................................

.............................................

i
0

0o 1 2 3
TP ® (PCA to beamline)

o p_/p.)

107t

305

Rati

0.95

=
LUULIULI W DL

w .

......

...........................................

-1

0 1 2 3
TP ® (PCA to beamline)



	Contents
	Page 1


